MathLinks 9 Practice and Homework Book
Chapter 8 Answers

8 Get Ready 8.2 Solving Equations: ax + b=,

X _

F+b=c
I. model 2. subtract, multiply 3. denominators
4. solution, substitution, facts

1. Examples:

4
5. Example: T+ 'J?T—‘__E soX=7%
6. Example;

SICIOMSICIO
- So6-gea

Lay2x—6=6a hleh=3x—9
Lapdy+T7=—-3s0x=-—5 x=0.12

b)Ix—4=35,s0x=13 7. Mo. Example: 2.5x, should have been multiplied

dajsr=6 bhlx=248
! _: 4 .}i 13 4is the soluti by the same value, 100, ﬁsthe other terms.
S.oab S—4) + 7T =—13, 50 x = —4 15 the solution 11 3 145 1
- . d}\—rlrlk_—:!,—l:ll—l'-'fl.}”— or
b} 12 — S5{—4) = 32, 50 x = —4 isnot the | ey
solution dig=7 W or Sy . .
6. a)x=T:Check: 7T—2=5 Soalx=86 b} f=—L18 chb= 387

b} 7= 2: Check: 321 + 4 = 10 10 37.5 min 11, 1406 km? 12, 194 cm 13,70

chp=—2:Check: 2(—-2)— 7= 11 . .
# e 8.3 Solving Equations: a(x + b) =

8.1 Solving Equations: ax= b, X = b,

. divide, distributive 2. substitute

a IR
x= b 3. Example: ( 3) TJ;|[_r -4 =32)orx—4==56
: , . 4a)x=—0.7 b)m= 374 cha=—4.1
I. mumiber lines, materials, algebraic .
N . . dpx=4
2. substitution 3. solution, facts - 419 1 s 12 o
Sdaly=— 1= o =
4. 4% = 0.24: x= 0.06 . 2)v=—415 by =532 cu=1L.
5 5 dy w= lqﬂ ;
B 7 ﬁ.u}tza—'or—z_}l b}\.:iorﬁ%
— e . 27 E] 12 2
AR R BB LR cp=Forizdle=—~or-1z
— Y —— Y — Toa)K=259 b)j=—165
- ) chy=4471 dyn="7.66
7 _ B i 45 1 .
Gajm=1z Wx=gelx=—7 or—llz % a) 28 cm
iy k& =%m‘ l_é Is} Exarple:
Toayw= 1536 bld= —1.125
chx=—2325 dym= 0255 3.2cm
Rajr=210x=-35
Goa)ras 259 b)p=s —9.16
1ib. a) lﬁﬁ_h‘f-.sm.f_ﬂﬁ"ﬁkm 5
o0 =12 o =142k
11. LWEIJI’ 625ml 13,5 14. 20 44'32+s'|=1248

B, 3865 10, -::r q— 11. a) 2.5 kvl b) 3.2 k'l
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(ML9 Practice and Homework Book, Chapter 8 Answers continued)

8.4 Solving Equations: ax = b + cx, S E TR A TR
ax+b=cx+d,albx+c)= X . “XD
diex +f) T e
1. False. Tosolve 7x + 5= 3x— 11 bvthe reverse
order of operations, first subtract 5 from both NENEE p | a4 ¥
sides of the equation. | e o o
2. False. The equation 2{4.5x + 3) = — 5(3x — i.Z La] Xs
1.3) becomes 9x + 6 = — 15x + 6.5 by using the E R g
distributive propertv. i
3. True AT=2,5,B1-3.4.C(-2. 3. D(—-4. 5
La)x=—14 Ba=05 )x=25 d)y=—276 B4y
S.ajx=— % bp o= J,.—? ox=L Hw=< A2, =3), B3, =, T2, —3). D4, - 3),
=7 . 8 E"(4, —5)

Goax =214 byp=056 chm=-2.11
T.ayp=—4.5 Irlx:—i—E%- or —2.6

=]

AM=2, =51 B"i(—=3. =), C™( =2, =3),
D¥—4, =3, E"i—4, =5

k=37 i . o
8. 8 weeks 9. = 7.2 10.4) 15.75 min b) 3.54 km . Example..llfl t.uc'}.'c'les. 1 f::hllclren-s bl.kﬁ', ajtd
i1. 19 I mountain bike; or 5 tricveles, 2 children’s
’ bikes, and 2 mountain bikes
. T
8 Chapter Link x| ”‘
4
1.25km 2. 283km 3. 157 km 0 -5 i
4. Mo. Example: The left and right sides of 1 | =2 1
22,50 4 0,154 = 0.284 are not equal when 2 1 NEEEED T T 1%
drepresents 170 km. Lo
5. 49.00 km i) 4
4
1

8 Vocabulary Link

8. :IIL':%OE 3% bg=2¢f=-1

l.g) 2.¢) 3.e) 4.b) 5.d) 6.a) 7.1) k
ullr:ﬁurE%clh:—M
GEDZCDUTDOER I I NNUITETI - -
EHE HOIT TAREFOGETI &0 FFP G 9, (=5 = —3125
ZI1 I ¥NLENDIHS UZULPI1I QIM o C e e
TEWAIKYSSTIUGMYPALLGE 11, ap the number of times the coin is fipped
| b} the mumber of possible outcomes
SR S I ¢)HHH, HHT, HTH, TTT, THH, TTH, THT
DVIFAGNDZ I I HOWIEKIHNIL dy 20 = 1024
UBLRBVIMMEFBEMTPCWTINE
DNOALAVZXEKEUVHFWADE|OQ
HU\‘!’CER\'EPDTFGMLHID
DI STRIEUT [V EP E RITIY]
ZOL B ARTPRPAIL JI MCClAP
HFOOMBAXFAVY EKOVUE
I LI NXLIEFWHNPEP IUMF VOA
OFE X B/ IER 1T ZW FJTRXU|EL
LGEAWVLEI UTVHI Z 1 QA
RY SRMNURE FEIWHNF X 1 Z

Chapters 1—8 Review

1.a)—7x" + 2x + 3; 3, 2, trinomial
by 2p + 15 2, 1, hinomial
.)$380 1) 32 hor 3.6k

Lad2 byd el 2 -.II_% e}%

Ly —2

e o kK
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